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ÍÛæ̃ Û¶ÛÛ : ›÷ÄõÁõà •Û¨Û©ÛÁõà…Ûé ›÷ÈÛÛ¼Û¶ÛÛ ½ÛÛ•ÛÄõ¸Ûé þùÉÛÛÙÈÛÛé.   
 

1. (a) ÍÛÛíé¾ýÛÛ, ›ä÷Ðüà …¶Ûé ÍÛÛé¶ÛÛÅÛà 4 : 5 : 1¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ¶ÛºõÛé-¶ÛäïõÍÛÛ¶Û ÈÛÐêü˜Û©ÛÛ ½ÛÛ•ÛàþùÛÁõÛé ™öé. ©Ûé¾Û¶Ûä× 
ÍÛÁõÈÛíéýÛä× ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 7 

þéùÈÛÛ× `̀̀̀ Ü¾ÛÅÛïõ©ÛÛé `̀̀̀ 

ÅÛé̈ ÛþùÛÁõÛé 50,000 ÐüÛ¬Û ¸ÛÁõ ÁõÛéïõ¦ø 15,000 

ÍÛÛíé¾ýÛÛ¶Ûà ÅÛÛé¶Û 30,000 ÜÍ¬ÛÁõ Ü¾ÛÅÛïõ©ÛÛé 1,80,000 

›ä÷Ðüà¶Ûà ÅÛÛé¶Û 15,000 ÁõÛéïõÛ¨ÛÛé 1,07,000 

…¶ÛÛ¾Û©Û ½Û×¦øÛéÇ 18,000   

…ÛïõÜÍ¾Ûïõ …¶ÛÛ¾Û©Û  75,000   

¾Ûæ¦øà :    

 ÍÛÛíé¾ýÛÛ 75,000   

 ›ä÷Ðüà  24,000   

 ÍÛÛé¶ÛÛÅÛà  15,000   

 3,02,000  3,02,000 

  ©Ûé¾Û¶Ûà ¸Ûé§øà¶Ûä× ÜÈÛÍÛ›÷Ù¶Û ¬ÛýÛä× …¶Ûé Ü¾ÛÅÛïõ©ÛÛé¶ÛÛ ¶Ûà˜Ûé ¾Ûä›÷¼Û Š¸ÛšýÛÛ : 

  – ¸Ûó¬Û¾Û Ðü¸Û©ÛÛé  ` 50,000 

  – ¼Ûà›Ûé Ðü̧ Û©ÛÛé  ` 1,85,000 

  ÜÈÛÍÛ›÷Ù¶Û¶Ûà ©ÛÛÁõà”Ûé …éïõ …ÛïõÜÍ¾Ûïõ ›÷ÈÛÛ¼ÛþùÛÁõà ` 5,000¶Ûà Ðü©Ûà, ›÷é ¼Ûà›Û Ðü̧ Û©ÛÛ ÈÛ”Û©Ûé       
` 3,500¾ÛÛ× ˜Ûæïõ©Ûé ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛà.  

  ÜÈÛÍÛ›÷Ù¶Û ”Û˜ÛÙ ` 10,000 …×þùÛ›÷ÈÛÛ¾ÛÛ× …ÛÈýÛÛé Ðü©ÛÛé, ¸Û¨Û ”ÛÁéõ”ÛÁõ ”Û˜ÛÙ ` 7,500 ¬ÛýÛÛé Ðü©ÛÛé.  

  ¼Ûà›Û Ðü̧ Û©ÛÛ ÈÛ”Û©Ûé ` 2,500¶ÛÛé Í¤øÛéïõ ÍÛÛé¶ÛÛÅÛà ÅÛˆ •Ûˆ Ðü©Ûà.  

  ›÷é¶Ûà ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ›Ûé•ÛÈÛÛˆ ïõÁõà ¶Û Ðü©Ûà, ›÷é¬Ûà Áõïõ¾Û ` 3,000 ¸Ûé§øà¶Ûé ¼Ûà›Û Ðü¸Û©ÛÛ ÈÛ”Û©Ûé 
˜ÛæïõÈÛÈÛà ¸Û¦øà.  

  “¾ÛÐü«Û¾Û ¶ÛäïõÍÛÛ¶Û¶Ûà ¸Û±ùÜ©Û¬Ûà” ÁõÛéïõ¦ø¶Ûà ÈÛÐêü˜Û¨Ûà þùÉÛÛÙÈÛ©Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé.  
…¬ÛÈÛÛ  
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 (a) ÁõÛéïõ¦ø¶Ûà Ðü¸Û©Ûé-Ðü¸Û©Ûé ÈÛÐêü˜Û¨Ûà ¾ÛÛ¤éø¶Ûà “¾ÛÐü«Û¾Û ¶ÛäïõÍÛÛ¶Û¶Ûà ¸Û±ùÜ©Û”, “¾Ûæ¦øà ÈÛµÛÛÁõÛ¶Ûà 
¸Û±ùÜ©Û”¬Ûà ïéõÈÛà Áõà©Ûé …ÅÛ•Û ™öé, ©Ûé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé …¶Ûé ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¾Ûæ¦øà 
ÈÛµÛÛÁõÛ¶Ûà Áõà©Û …¸Û¶ÛÛÈÛà ÁõÛéïõ¦ø¶Ûà ÈÛÐêü˜Û¨Ûà þùÉÛÛÙÈÛ©Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé.  

  ÈÛéÅÛœ÷, ÐüÍÛ¾Ûä”Û …¶Ûé Üþù¶ÛéÉÛ 3 : 2 : 1¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ¶ÛºõÛé-¶ÛäïõÍÛÛ¶Û ÈÛÐêü˜Û©ÛÛ ½ÛÛ•ÛàþùÛÁõÛé Ðü©ÛÛ. 
™öéÅÅÛÛ× Ðü¸Û©ÛÛ¶Ûà ˜ÛæïõÈÛ¨Ûà ÈÛ”Û©Ûé ©Ûé¾Û¶Ûà ¾Ûæ¦øà¶Ûà ÜÍ¬Û©Ûà …¶Ûä’õ¾Ûé ` 90,000, ` 75,000 …¶Ûé        
` 40,000 Ðü©Ûà. ™öéÅÅÛÛé Ðü¸Û©ÛÛé ` 35,500¶ÛÛé Ü¾ÛÅÛïõ©ÛÛé¶ÛÛ ÈÛé̃ ÛÛ¨Û¾ÛÛ×¬Ûà ¾ÛéÇÈÛÛýÛéÅÛ Ðü©ÛÛé. ÜÈÛÍÛ›÷Ù¶Û 
”Û˜ÛÙ ¾ÛÛ¤éø …¶ÛÛ¾Û©Û Áõ”ÛÛýÛéÅÛ ` 7,500¾ÛÛ×¬Ûà ` 6,000 ”Û˜ÛÛÙýÛéÅÛ Ðü©ÛÛ.  

 (b) …éïõ ½ÛÛ•ÛàþùÛÁõà ¸Ûé§øà¶ÛÛé µÛ×µÛÛé 01-01-2013¬Ûà ”ÛÁõàþùà ÅÛéÈÛÛ ©ÛÛ 01-04-2013¶ÛÛ ÁõÛé›÷ ÈÛíéþéùÐüà 
ÜÅÛÜ¾Û¤éø¦ø¶Ûà Í¬ÛÛ¸Û¶ÛÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛà. ©ÛÛ. 31-12-2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶Ûà ¶Ûà˜Ûé¶Ûà 
¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà Í¬ÛÛ¸Û¶ÛÛ ¸ÛÐéüÅÛÛ¶ÛÛ ©Û¬ÛÛ Í¬ÛÛ¸Û¶ÛÛ ¸Û™öà¶ÛÛ ¶ÛºõÛ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 7 

  (1) ©ÛÛ. 31-12-2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶Ûä× ÈÛé̃ ÛÛ¨Û ` 12,00,000 ™öé. ›÷é ¸Ûíéïõà                
©ÛÛ. 01-01-2013 ¬Ûà 31-03-2013 ¶ÛÛ ÁõÛé›÷ ÍÛäµÛà¶Ûä× ÈÛé̃ ÛÛ¨Û ` 2,40,000 ™öé.  

  (2) ©ÛÛ. 31-12-2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶ÛÛ …Û”ÛÛ ÈÛÌÛÙ¶ÛÛé ÈÛȩ́ ÛÛÁ õ”ÛÛ©ÛÛ¶ÛÛé ïõÛ˜ÛÛé ¶ÛºõÛé        
` 4,80,000 ™öé. ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©ÛÛ¶Ûé ÅÛ•Û©Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

 `̀̀̀ 

½ÛÛ¦ä×ø …¶Ûé ÈÛéÁõÛ  39,000 

ïõõ¾ÛÙ̃ ÛÛÁõà¶ÛÛé ¸Û•ÛÛÁõ 72,000 

Ü¦ø¼Ûễ ÛÁõ ÈýÛÛ›÷ 18,000 

ÍÛÛ¾ÛÛ¶ýÛ ”Û˜ÛÙ  12,000 

…Ûé¦øà¤ø ºõà 1,500 

¦øÛýÛÁéõî¤øÁõ ºõà 7,500 

Í¬ÛÛ¸Û¶ÛÛ ”Û˜ÛÙ  6,000 

ÈÛé̃ ÛÛ¨Û ïõ¾ÛàÉÛ¶Û  24,000 

…¬ÛÈÛÛ  

  ¶ÛÛêµÛ¨Ûà ¸ÛÐéüÅÛÛ×¶ÛÛé ¶ÛºõÛé …é¤øÅÛé ÉÛä× ? ¶ÛÛêµÛ¨Ûà ¸ÛÐéüÅÛÛ¶ÛÛé ¶ÛºõÛé ÉÛéÁÐüÛéÅ¦øÁõÛé¶Ûé Ü¦øÜÈÛ¦ø¶¦ø ©ÛÁõàïéõ 
ÈÛÐêü˜Ûà ÉÛïõÛýÛ ïéõ ¶ÛÜÐü ? ›÷ÄõÁõà ïõÛÁõ¨ÛÛé ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé.  

 

2. …ÛÉÛ¶ÛÛ ÜÅÛÜ¾Û¤éø¦ø¶Ûà ÍÛ«ÛÛÈÛÛÁõ ¬ÛÛ¸Û¨Û ` 100¶ÛÛé …éïõ …éÈÛÛ 1,25,000 ˆÜîÈÛ¤øà ÉÛéÁõÛé¾ÛÛ× ÈÛÐêü˜ÛÛýÛéÅÛ          
` 1,25,00,000¶Ûà ™öé. ï×õ¸Û¶Ûà…é 40% ¾Ûæ¦øà ›ÛÐéüÁõ ›÷¶Û©ÛÛ ¾ÛÛ¤éø 20% ¸ÛóàÜ¾ÛýÛ¾Û¬Ûà ¼ÛÐüÛÁõ ¸ÛÛ¦øà Ðü©Ûà : 14 

 ÉÛéÁõþùà¥ø Áõïõ¾Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ˜ÛæïõÈÛÈÛÛ¶Ûà Ðü©Ûà : 
  …Áõœ÷ ÍÛÛ¬Ûé  ` 20 

  ¾Û×›æ÷Áõà ÍÛÛ¬Ûé  ` 40 (¸ÛóàÜ¾ÛýÛ¾Û ÍÛÛ¬Ûé ) 

  ¸Ûó¬Û¾Û Ðü¸Û©ÛÛ ÍÛÛ¬Ûé  ` 30 

  ¼Ûà›Û Ðü̧ Û©ÛÛ ÍÛÛ¬Ûé  ` 30 

 ÉÛéÁõ ÈÛÐêü˜Û¨Ûà ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛà  : 

  ¸ÛæÁéõ¸ÛæÁõÛ ¾Û×›æ÷Áõ ïõÁéõÅÛ  25,000 ÉÛéÁõ  
  …Áõœ÷¶ÛÛ 2/3 ½ÛÛ•Ûé ÉÛéÁõ ÈÛÐêü˜Û¨Ûà 20,000 ÉÛéÁõ 
  …Áõœ÷¶ÛÛ 1/4 ½ÛÛ•Ûé ÉÛéÁõ ÈÛÐêü˜Û¨Ûà 5,000 ÉÛéÁõ     

      50,000 ÉÛéÁõ 
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 5,000 ÉÛéÁõ Š¸ÛÁõ¶Ûà …Áõœ÷…Ûé ¶ÛÛ¾Û×›æ÷Áõ ïõÁõÛˆ …¶Ûé ©Ûé¾Û¶Ûé ¶ÛÛ¨ÛÛ× ¸ÛÛ™öÛ …¸ÛÛýÛÛ. …Áõœ÷ ÍÛÛ¬Ûé …ÛÈÛéÅÛÛ 
ÈÛµÛÛÁõÛ¶ÛÛ ¶ÛÛ¨ÛÛ× ¾Û×›æ÷Áõà …¶Ûé Ðü¸Û©ÛÛ ¸Ûé¤éø ÅÛˆ ›÷ÈÛÛýÛ ™öé.  

 ¸ÛóÜÈÛ¨Û ïéõ ›÷é¶Ûé “¸ÛæÁéõ ¸ÛæÁõÛ ¾Û×›æ÷Áõ ïõÁéõÅÛ ÉÛéÁõ¶ÛÛ µÛÛéÁõ¨Ûé” 1,000 ÉÛéÁõ ºõÛÇÈÛÛýÛÛ Ðü©ÛÛ, ©Ûé¶ÛÛ ³ùÛÁõÛ ¸Ûó¬Û¾Û 
Ðü¸Û©ÛÛ¶ÛÛ ¶ÛÛ¨ÛÛ×, ¾Û×›æ÷Áõàõ ÈÛ”Û©Ûé ›÷ ˜ÛæïõÈýÛÛ Ðü©ÛÛ, ©ýÛÛÁõ¼ÛÛþù ©Ûé¶ÛÛ ³ùÛÁõÛ ï×õ¸Û¶Ûà¶Ûé ïõÉÛä ›÷ ˜ÛæïõÈÛÛ©Ûä× ¶Û¬Ûà.  

 ïõÜÈÛ©ÛÛ ïéõ ›÷é¶Ûé ÉÛéÁõ …Áõœ÷¶ÛÛ 2/3 ½ÛÛ•Ûé “ÉÛéÁõ ÈÛÐêü˜Û¨Ûà¶ÛÛ µÛÛéÁõ¨Ûé” 800 ÉÛéÁõ¶Ûà ÈÛÐêü˜Û¨Ûà ïõÁõÈÛÛ¾ÛÛ× 
…ÛÈÛà Ðü©Ûà ©Ûé ¾Û×›æ÷Áõà …¶Ûé ¸Ûó¬Û¾Û Ðü¸Û©ÛÛ¶ÛÛ ¶ÛÛ¨ÛÛ× ½ÛÁõÈÛÛ¾ÛÛ× Ü¶ÛÌºõÇ ¬Ûˆ …¶Ûé ©Ûé¶ÛÛ ÉÛéÁõ ¸Ûó¬Û¾Û Ðü̧ Û©ÛÛ 
¼ÛÛþù ›÷¸©Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛ.  

 ¼Ûà›Û Ðü¸©ÛÛ¶ÛÛ ¶ÛÛ¨ÛÛ× ¾Û×•ÛÛÈýÛÛ ¼ÛÛþù ï×õ¸Û¶Ûà ³ùÛÁõÛ ¸ÛóÜÈÛ¨Û¶ÛÛ ¼ÛµÛÛ ›÷ ÉÛéÁõ ›÷̧ ©Û ïõÁõÛýÛÛ. ›÷¸©Ûà ¼ÛÛþù 
50% ¸ÛóÜÈÛ¨Û¶ÛÛ …¶Ûé 70% ïõÜÈÛ©ÛÛ¶ÛÛ ÉÛéÁõ ï×õ¸Û¶Ûà ³ùÛÁõÛ ` 8¶ÛÛ ½ÛÛÈÛé ¸Ûæ̈ ÛÙ ½ÛÁõ¸ÛÛˆ ¬ÛýÛéÅÛ ©ÛÛÁõà”Ûé 
ºõÁõà¬Ûà ¼ÛÐüÛÁõ ¸Û¦øÛýÛÛ …¶Ûé ÉÛéÁõ Š¸ÛÁõ ¶ÛÛ¨ÛÛ× ¾ÛéÇÈÛÛýÛÛ.  

 …ÛÉÛ¶ÛÛ ï×õ¸Û¶Ûà¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ× ›÷ÄõÁõà …Û¾Û¶ÛÛêµÛ ÅÛ”ÛÛé.  

…¬ÛÈÛÛ 

 (a) Ü¾Û. …Û¾ÛàÁõ ³ùÛÁõÛ ¸ÛÛé©ÛÛ¶ÛÛ 300 ÉÛéÁõ Š¸ÛÁõ ÉÛéÁõþùà¥ø ` 5, ` 2 ¸ÛóàÜ¾ÛýÛ¾Û ÍÛÜÐü©Û ˜ÛæïõÈÛÛýÛéÅÛ ¶Û¬Ûà. 
ï×õ¸Û¶Ûà ³ùÛÁõÛ ©Ûé¶ÛÛ ¼ÛµÛÛ ›÷ ÉÛéÁõ ›÷¸©Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛ. Ü¾Û. ÉÛÛÐüÄõ”Û ³ùÛÁõÛ ©Ûé¶ÛÛ 600 ÉÛéÁõ Š¸ÛÁõ 
` 3 ˜ÛæïõÈÛÛýÛéÅÛ ¶Û¬Ûà. ï×õ¸Û¶Ûà ³ùÛÁõÛ ©Ûé ÉÛéÁõÛé ›÷ÄõÁõà ¶ÛÛéÜ¤øÍÛ ¼ÛÛþù ›÷̧ ©Û ïõÁõÛýÛÛ. ¼Û×¶Ûé¶ÛÛ ÉÛéÁõÛé¶Ûà 
¾ÛæÇÝïõ¾Û©Û ` 10¶Ûà Ðü©Ûà. ›÷¸©Ûà ¼ÛÛþù ï×õ¸Û¶Ûà ³ùÛÁõÛ …Û¾ÛàÁõ¶ÛÛ ïäõÅÛ ÉÛéÁ¾ÛÛ×¬Ûà 70% …¶Ûé 
ÉÛÛÐüÄõ”Û¶ÛÛ ïäõÅÛ ÉÛéÁõ¾ÛÛ×¬Ûà 50% ÉÛéÁõ Ü¾Û. •Û×•Ûä ©ÛéÅÛà¶Ûé ` 7¶ÛÛ ½ÛÛÈÛé ¸Ûæ̈ ÛÙ ½ÛÁõ¸ÛÛˆ ©ÛÛÁõà”Ûé 
…Û¸ÛÈÛÛ¾ÛÛ× …ÛÈýÛÛ. ï×õ¸Û¶Ûà¶ÛÛ ˜ÛÛȩ́ Û¦éø ›÷¸©Ûà¶Ûà ›÷ÄõÁõà …Û¾Û¶ÛÛêµÛ ÅÛ”ÛÛé …¶Ûé ï×õ¸Û¶Ûà¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ× 
ÉÛéÁõ ›÷¸©Ûà ”ÛÛ©Ûä× ©ÛíéýÛÛÁõ ïõÁõÛé.   7 

 (b) ¼ÛÛ¼ÛÛœ÷ ÜÅÛ.¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ× ÉÛéÁõ ›÷¸©Ûà ”ÛÛ©Ûä× ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

   Š.                ÉÛéÁõ›÷¸©Ûà ”ÛÛ©Ûä×  ›÷. 

ÜÈÛ•Û©ÛÛé `̀̀̀ ÜÈÛ•Û©ÛÛé `̀̀̀ 

ÉÛéÁõ¾Ûæ¦øà ”ÛÛ©Ûé  1,400 ÉÛéÁõ¾Ûæ¦øà ”ÛÛ©Ûé  8,400 

¾Ûæ¦øà …¶ÛÛ¾Û©Û ”ÛÛ©Ûé  700   

¼ÛÛïõà …Û•ÛÇ ÅÛˆ •ÛýÛÛ 6,300   

 8,400  8,400 

  ÉÛéÁõ¶Ûà ¾ÛæÇÝïõ¾Û©Û ` 100 Ðü©Ûà …¶Ûé ` 40 ÉÛéÁõþùà¥ø ½ÛÁõ¸ÛÛˆ ¬ÛýÛÛ ¶Û Ðü©ÛÛ, ©Ûé¬Ûà ÉÛéÁõÛé ›÷¸©Û 
ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛ Ðü©ÛÛ …¶Ûé ©Ûé¾ÛÛ×¬Ûà …¾Ûäïõ ÉÛéÁõ ºõÁõà¬Ûà ¼ÛÐüÛÁõ ¸Û¦øÛýÛÛ Ðü©ÛÛ. …Û ¾ÛÛÜÐü©Ûà¶ÛÛ 
…ÛµÛÛÁéõ ÉÛéÁõ›÷¸©Ûà …×•Ûé …¶Ûé ›÷¸©Û ¬ÛýÛéÅÛ ÉÛéÁõ ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ …×•Ûé ï×õ¸Û¶Ûà¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ× ›÷ÄõÁõà 
…Û¾Û¶ÛÛêµÛ ÅÛ”ÛÛé.   4 

 (c) ¶Ûà˜Ûé¶ÛÛ Š¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé ƒ (ïõÛé̂ ¸Û¨Û …éïõ)  3 

  (1) ÍÈÛé¤ø ˆÜîÈÛ¤øà ÉÛéÁõ …×•Ûé ï×õ¸Û¶Ûà µÛÛÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé  

  (2) ½ÛÛÜÈÛ ˆÜîÈÛ¤øà ÉÛéÁõ  
  (3) ¸ÛÛé©ÛÛ¶ÛÛ ÉÛéÁõ ¸ÛÁõ©Û ”ÛÁõàþùÈÛÛ¶Ûà ï×õ¸Û¶Ûà µÛÛÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé  
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3. ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ ¸ÛÁõ©Û ïõÁõÈÛÛ¶Ûà ï×õ¸Û¶ÛàµÛÛÁõÛ¶Ûà ïõÅÛ¾Û 80¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ÜÈÛÍ©ÛÛÁõ¬Ûà ˜Û˜Ûâ, ¶Ûà˜Ûé¶Ûà ÜÐüÁéõ¶Û 
ÜÅÛ.¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ©Ûé¾Û¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ× ›÷ÄõÁõà …Û¾Û¶ÛÛêµÛ ÅÛ”ÛÛé : 

 ÜÐüÁéõ¶Û ÜÅÛÜ¾Û¤éø¦ø ©Ûé¶ÛÛ 50,000, 12%¶ÛÛ Áõà¦øà¾Ûé¼ÛÅÛ ¸Ûóéºõ. ÉÛéÍÛÙ þùÁéõïõ ` 10¶ÛÛé 10% ¸ÛóàÜ¾ÛýÛ¾Ûé ¸ÛÁõ©Û 
ïõÁõÈÛÛ ˆ˜™öé ™öé. ¸ÛÁõ©Û ïõÁõ©ÛÛ× ¸ÛÐéüÅÛÛ ÜÐüÁéõ¶Û ÜÅÛ.¶ÛÛ …¾Ûäïõ ”ÛÛ©ÛÛ…Ûé¶Ûà ¼ÛÛïõà ¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©Ûà : 

 `̀̀̀ 

ÁõÛéïõ¦ø …¶Ûé ¼Ûêïõ ”ÛÛ©Ûä× 10,000 

¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× 3,00,000 

ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û  4,50,000 

ÁõÛéïõÛ¨ÛÛé  20,000 

 ÜÐüÁéõ¶Û ÜÅÛ. ³ùÛÁõÛ Š¸ÛÁõ þùÉÛÛÙÈÛéÅÛÛ ÁõÛéïõÛ¨ÛÛé ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û Š¸ÛÁõ 1/3 ¶ÛºõÛé ¾ÛÇé ©Ûé Áõà©Ûé ÈÛé̃ ÛÈÛÛ¾ÛÛ× …ÛÈýÛÛ. 
ï×õ¸Û¶Ûà¶Ûà ¸Ûóéºõ. ÉÛéÁõ ¸ÛÁõ©Û ¼ÛÛþù¶Ûà …Û”ÛÁõ¶Ûà ÁõÛéïõ¦ø …¶Ûé ¼Ûêïõ¶Ûà ¼ÛÛïõà ` 50,000 ÁõÛ”ÛÉÛé. ï×õ¸Û¶Ûà ³ùÛÁõÛ 
›÷ÄõÁõà ÍÛ×”ýÛÛ¾ÛÛ× ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ ` 10¶ÛÛé ` 15¶ÛÛ ½ÛÛÈÛé ›ÛÐéüÁõ ›÷¶Û©ÛÛ¾ÛÛ× ¼ÛÐüÛÁõ ¸Û¦øÛýÛ ™öé. 
ï×õ¸Û¶Ûà…é ©Ûé¶ÛÛ ¼ÛÐüÛÁõ ¸ÛÛ¦éøÅÛ ÉÛéÁõ Š¸ÛÁõ ¼ÛµÛÛ ›÷ ¶ÛÛ¨ÛÛ× ¾ÛéÇÈÛéÅÛ ™öé. 14 

…¬ÛÈÛÛ 

 (a) ËÛà ÍÛÜ˜Û¶Û ÜÅÛ.¶Ûà ©ÛÛ. 30¾Ûà ›æ÷¶Û, 2013¶ÛÛ ÁõÛé›÷¶Ûà ¼ÛÛïõà…Ûé ¶Ûà˜Ûé ¾Ûä›÷¼Û¶Ûà ™öé : 

 `̀̀̀ 

10,000 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ ` 10¶ÛÛé ` 8 ½ÛÁõ¸ÛÛˆ ¬ÛýÛéÅÛ  80,000 

ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û  20,000 

¾Ûæ¦øà ¸ÛÁõ©Û …¶ÛÛ¾Û©Û  80,000 

›Û¾Ûà¶Û•ÛàÁõà ¸ÛóàÜ¾ÛýÛ¾Û 10,000 

ÜÍ¬ÛÁõ Ü¾ÛÅÛïõ©Û¶ÛÛ ¸Ûä¶Ûƒ¾ÛæÅýÛÛ×ïõ¶Û¬Ûà ŠþÕù½ÛÈÛéÅÛ ¶ÛºõÛé  10,000 

  ï×õ¸Û¶Ûà¶Ûà ÍÛÛ¾ÛÛ¶ýÛ ÍÛ½ÛÛ¾ÛÛ× ¬ÛýÛéÅÛÛ ¥øÁõÛÈÛ ¾Ûä›÷¼Û …¶ÛÛ¾Û©ÛÛé¶Ûà ¼ÛÛïõà¾ÛÛ×¬Ûà …¸Ûæ̈ ÛÙ ½ÛÁõÛýÛéÅÛ ÉÛéÁõ¶Ûé 
¸Ûæ̈ ÛÙ ½ÛÁõ¸ÛÛˆ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. ÉÛéÁõ¶Ûé ¸Ûæ̈ ÛÙ ½ÛÁõ¸ÛÛˆ ïõÁõÛýÛÛ ¼ÛÛþù ï×õ¸Û¶Ûà ³ùÛÁõÛ ›÷ÄõÁõà ÍÛ×”ýÛÛ¾ÛÛ× 
ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ ` 10¶ÛÛé ` 12¶ÛÛ ½ÛÛÈÛé ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¾ÛÛ× …ÛÈÛé ™öé, ïéõ ›÷é¬Ûà ïõÁõà¶Ûé ï×õ¸Û¶Ûà 
¸ÛÛé©ÛÛ¶ÛÛ …éïõ ˆÜîÈÛ¤øà ¸Ûæ̈ ÛÙ ½ÛÁõ¸ÛÛˆ ÉÛéÁõ ÍÛÛ¾Ûé …éïõ ¸Ûæ̈ ÛÙ ½ÛÁõ¸ÛÛˆ ¬ÛýÛéÅÛ ÉÛéÁõ ¼ÛÛé¶ÛÍÛ ÍÈÛÄõ¸Ûé 
…Û¸Ûà ÉÛïéõ. ï×õ¸Û¶Ûà¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ× ›÷ÄõÁõà …Û¾Û¶ÛÛêµÛ ÅÛ”ÛÛé.  7 

 

 (b) ÐüÌÛë ï×õ¸Û¶Ûà¶ÛÛ ¸ÛÛïõÛ ÍÛÁõÈÛíéýÛÛ ¾Ûä›÷¼Û, ï×õ¸Û¶Ûà ¸ÛÛÍÛé 80,000 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ ` 10¶ÛÛé …¶Ûé 
6%¶ÛÛ Ü¦ø¼Ûễ ÛÁõ ` 2,40,000¶ÛÛ ™öé. ï×õ¸Û¶Ûà¶Ûà ÈÛÛÜÌÛÙïõ ÍÛ½ÛÛ¾ÛÛ× ¶Û‘õà ïõÁõÛýÛä× ïéõ ï×õ¸Û¶Ûà 10% 

ïõÁõ¾Ûäî©Û Ü¦øÜÈÛ¦ø¶¦ø ÁõÛéïõ¦éø¬Ûà ˜ÛæïõÈÛÉÛé. (ïõ¸ÛÛ©Û¶ÛÛé þùÁõ 20%) ï×õ¸Û¶Ûà Ü¦ø¼Ûé¶˜ÛÁõ 3% ¸ÛóàÜ¾ÛýÛ¾Ûé ¸ÛÁõ©Û 
ïõÁéõ ™öé. …Û¸ÛéÅÛÛ ÈýÛÈÛÐüÛÁõÛé ¸ÛÁõ¬Ûà …Û¾Û¶ÛÛêµÛ ÅÛ”ÛÛé.  4 

 (c) ¼ÛÛé¶ÛÍÛ ÉÛéÁõ …é¤øÅÛé ÉÛä× ? ¼ÛÛé¶ÛÍÛ ÈÛÐêü˜Û¨Ûà¶ÛÛ ïõÛé̂ ¸Û¨Û ªÛ¨Û ÍªÛÛé©Û ÅÛ”ÛÛé. 3 
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4. þéùÈÛÅÛ ÜÅÛ.¶Ûä× ïõÛ˜Ûä× ÍÛÁõÈÛíéýÛä× ©ÛÛ. 31-03-2013¶Ûä× ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 14 

ÜÈÛ•Û©Û  ŠµÛÛÁõ ¼ÛÛïõà  ›÷¾ÛÛ ¼ÛÛïõà  

†ÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà – 1,20,000 

10%¶Ûà ¸Ûóéºõ. ÉÛéÁõ¾Ûæ¦øà – 80,000 

ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û  – 40,000 

Ü¦ø¼Ûé¶˜ÛÁõ ¸ÛÁõ©ÛÜ¶ÛÜµÛ – 20,000 

›Û¾Ûà¶Û•ÛàÁõà ¸ÛóàÜ¾ÛýÛ¾Û – 6,000 

¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× (1-4-2012) – 10,000 

10%¶ÛÛ Ü¦ø¼Ûễ ÛÁõÛé  – 40,000 

Ü¦ø¼Ûé¶˜ÛÁõ ¸ÛÁõ ÈÛ¤øÛÈÛ  2,000 – 

12%¶Ûà ›ÛÐéüÁõ ¬ÛÛ¸Û¨Û – 20,000 

¸ÛóÛéÜÈÛ¦ø¶¦ø º×õ¦ø …¶Ûé ¸ÛóÛé. º×õ¦ø¾ÛÛ× ºõÛÇÛé 2,000 10,000 

¶ÛÜÐü ¾Û×•ÛÛÈÛéÅÛ Ü¦øÜÈÛ¦ø¶¦ø  – 1,600 

Ü¦ø¼Ûé¶˜ÛÁõ Š¸ÛÁõ ˜Û§éøÅÛ ¸ÛÁ×õ©Ûä ˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ ¶ÛÜÐü ©ÛéÈÛä× ÈýÛÛ›÷  – 1,000 

Ü¦ø¼Ûé¶˜ÛÁõ ÈýÛÛ›÷  4,000 – 

ÜÍ¬ÛÁõ Ü¾ÛÅÛïõ©ÛÛé  3,10,000 – 

ÜÍ¬ÛÁõ Ü¾ÛÅÛïõ©ÛÛé Š¸ÛÁõ¶Ûä× –ÛÍÛÛÁõÛ ½Û×¦øÛéÇ  – 1,10,000 

Í¤øÛéïõ (1-4-2012) 1,10,000 – 

ÁõÛéïõÛ¨ÛÛé 98,000 – 

þéùÈÛÛþùÛÁõÛé …¶Ûé ÅÛé̈ ÛþùÛÁõÛé 2,28,400 60,000 

ÁõÛéïõ¦øÛ …¶Ûé ¼Ûêïõ  2,000 2,800 

Ðæ×ü¦øà…Ûé 41,200 45,000 

”ÛÁõàþùà …¶Ûé ÈÛé̃ ÛÛ¨Û  14,90,000 17,98,000 

¸ÛÁõ©Û  20,000 16,000 

›ÛÐéüÁõ ¬ÛÛ¸Û¨Û Š¸ÛÁõ¶Ûä× ÈýÛÛ›÷  1,200 – 

…ÛÈÛïõ¾ÛÛÅÛ •ÛÛ¦øÛ½ÛÛ¦ä×ø  28,800 – 

½ÛÛ¦ä×ø ïõÁõÈÛéÁõÛ …¶Ûé ÈÛà¾ÛÛé  6,000 – 

Í¤éøÉÛ¶ÛÁõà …¶Ûé ¸ÛÛéÍ¤éø›÷  3,000 – 

›ÛÐéüÁõÛ©Û  2,000 – 

–ÛÛÅÛ”ÛÛµÛ …¶Ûé –ÛÛÅÛ”ÛÛµÛ …¶ÛÛ¾Û©Û  800 4,000 

¸ÛóÛ¬ÛÜ¾Ûïõ ”Û˜ÛÛÙ  2,000 – 

¸Û•ÛÛÁõ …¶Ûé ¶ÛÜÐü ˜ÛæïõÈÛéÅÛ ¸Û•ÛÛÁõ  36,000 3,000 

ïäõÅÛ  23,87,400 23,87,400 
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 ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà¶Ûé µýÛÛ¶Û¾ÛÛ× ÁõÛ”Ûà¶Ûé ï×õ¸Û¶ÛàµÛÛÁõÛ, 1956 ¾Ûä›÷¼Û ï×õ¸Û¶Ûà¶ÛÛ ÈÛÛÜÌÛÙïõ ÜÐüÍÛÛ¼ÛÛé ©ÛíéýÛÛÁõ ïõÁõÛé : 
 (1) ï×õ¸Û¶Ûà¶Ûà ½ÛÁõ¸ÛÛˆ ¾Ûæ¦øà ÍÛ«ÛÛÈÛÛÁõ ¾Ûæ¦øà¶ÛÛ 50% ›÷é¤øÅÛà ™öé. þùÁéõïõ ÉÛéÁõ¶Ûà þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û        

` 100¶Ûà ™öé.  

 (2) …Û”ÛÁõ Í¤øÛéïõ¶Ûä× ¾ÛæÅýÛ ` 1,32,100 ™öé. ›÷é¾ÛÛ× Í¤éøÉÛ¶ÛÁõà Í¤øÛéïõ ` 1,000 ÍÛ¾ÛÛÈÛÛýÛéÅÛ ™öé.  
 (3) ÜÍ¬ÛÁõ Ü¾ÛÅÛïõ©ÛÛé¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û¶Ûà ™öé : 

ÜÈÛ•Û©ÛÛé ©ÛÛ. 31-3-2012 

ÍÛäµÛà¶Ûà ¸Û¦ø©ÛÁõ  
–ÛÍÛÛÁõÛé  –ÛÍÛÛÁõÛ¶ÛÛé þùÁõ  

¾ÛïõÛ¶ÛÛé 50,000 20,000 10% 

¾ÛÉÛà¶ÛÁõà 2,00,000 60,000 25% 

ÈÛÛÐü¶ÛÛé 40,000 20,000 20% 

ºõÜ¶ÛÙ̃ ÛÁõ  20,000 10,000 10% 

  ï×õõ¸Û¶Ûà ³ùÛÁõÛ –Û¤ø©Ûà ›÷©Ûà ¼ÛÛïõà¶Ûà ¸Û±ùÜ©Û ¾Ûä›÷¼Û –ÛÍÛÛÁõÛé •Û¨ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé.  

 (4) ÁõÛéïõÛ¨ÛÛé¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

  • 10% Ü¦ø¼Ûé¶˜ÛÁõ ¸ÛÁõ©Û …¶ÛÛ¾Û©Û ÁõÛéïõÛ¨Û (1-4-2012) ` 20,000 

  • 8%¶Ûà ÍÛé¶¤ÖøÅÛ •ÛÈÛÙ¾Ûé¶¤ø¶Ûà ÅÛÛé¶Û (þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û ` 40,000 ©ÛÛ. 1-10-2012¶ÛÛ ÁõÛé›÷ 
”ÛÁõàþùÛýÛéÅÛ) ` 38,000 

  • ïéõýÛäÁõ ÜÅÛ.¶ÛÛ 800 ˆÜîÈÛ¤øà ÉÛéÁõ þùÁéõïõ ` 100¶ÛÛé ` 50 ½ÛÁõ¸ÛÛˆ ` 40,000. 

 (5) ¶ÛÜÐü ¶ÛÛêµÛÛýÛéÅÛ ŠµÛÛÁõ ÈÛé̃ ÛÛ¨Û ` 2,000¶Ûä× Ðü©Ûä×. ` 400 –ÛÛÅÛ”ÛÛµÛ ¸Ûé¤éø ¾ÛÛ×¦øà ÈÛÛÇÈÛÛ¶ÛÛ ™öé …¶Ûé       
–ÛÛÅÛ”ÛÛµÛ …¶ÛÛ¾Û©Û 2% ÁõÛ”ÛÈÛÛ¶Ûà ™öé.  

 (6) 10% ¸ÛóÛ¬ÛÜ¾Ûïõ ”Û˜ÛÙ ¾ÛÛ×¦øà ÈÛÛÇÈÛÛ¶ÛÛ ™öé.  

 (7) ¦øÛýÛÁéõî¤øÁõ ³ùÛÁõÛ ¶Ûà˜Ûé ¾Ûä›÷¼Û¶Ûà ºõÛÇÈÛ¨Ûà ÍÛæÜ˜Û©Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé : 

  • ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û ”ÛÛ©Ûé ` 20,000 

  • Ü¦ø¼Ûé¶˜ÛÁõ ¸ÛÁ©Ûõ ½Û×¦øÛéÇ ”ÛÛ©Ûé ` 10,000 

  • ˆÜîÈÛ¤øà ÉÛéÁõ Š¸ÛÁõ Ü¦øÜÈÛ¦ø¶¦ø 15% 

…¬ÛÈÛÛ 

 (a) ÐüÛþùâ ÜÅÛ.¶ÛÛ ïõÛ˜ÛÛ ÍÛÁõÈÛíéýÛÛ¾ÛÛ×¬Ûà ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷ ¶Ûà˜Ûé¶Ûà ¼ÛÛïõà…Ûé ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛà ™öé : 7 

”ÛÛ©ÛÛ¶Ûä× ¶ÛÛ¾Û  ŠµÛÛÁõ 
¼ÛÛïõà (`̀̀̀) 

›÷¾ÛÛ 
¼ÛÛïõà (`̀̀̀) 

…ÛÈÛïõÈÛéÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ (1-4-2012) – 17,000 

…•ÛÛŠ¬Ûà ˜ÛæïõÈÛéÅÛ …ÛÈÛïõÈÛéÁõÛé (1-4-2012) 12,000 – 

…•ÛÛŠ¬Ûà ˜ÛæïõÈÛéÅÛ …ÛÈÛïõÈÛéÁõÛé (˜ÛÛÅÛä ÈÛÌÛë ˜ÛæïõÈÛÛýÛéÅÛ) 18,000 – 

¾ÛæÇÍ¬ÛÛ¶Ûé¬Ûà ïõ¸ÛÛýÛéÅÛ …ÛÈÛïõÈÛéÁõÛé  800 1,200 

¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä×  (1-4-2012) – 24,000 
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  2011-12¶Ûà …ÛïõÛÁõ¨Ûà ˜ÛÛÅÛä ÈÛÌÛë ¸ÛæÁõà ¬Ûˆ …¶Ûé …ÛÈÛïõÈÛéÁõÛ¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà ` 19,000 ¶Û‘õà 
¬Ûˆ. ˜ÛÛÅÛä ÈÛÌÛÙ¶ÛÛé ï×õ¸Û¶Ûà¶ÛÛé ¶ÛºõÛé ` 42,000 ™öé. ˜ÛÛÅÛä ÈÛÌÛÙ¶ÛÛ ïäõÅÛ ¶ÛºõÛ¾ÛÛ×¬Ûà 50% …ÛÈÛïõÈÛéÁõÛ¶Ûà 
›Ûé•ÛÈÛÛˆ ¸Ûé¤éø ÁõÛ”ÛÈÛÛ¶ÛÛ ™öé.  

  Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà ©Û¾Ûé ï×õ¸Û¶Ûà¶ÛÛ ÈÛÛÜÌÛÙïõ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ïéõÈÛà Áõà©Ûé þùÉÛÛÙÈÛÉÛÛé ©Ûé ›÷̈ ÛÛÈÛÛé …¶Ûé ›÷ÄõÁõà 
…Û¾Û¶ÛÛêµÛÛé ÅÛ”ÛÛé.  

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛ ©ÛÛ. 31-3-13¶ÛÛ ÁõÛé›÷¶Ûà ïõÛ˜ÛÛ ÍÛÁõÈÛíéýÛÛ¶Ûà ¼ÛÛïõà…Ûé ©Û¬ÛÛ ÐüÈÛÛÅÛÛ…Ûé µýÛÛ¶Û¾ÛÛ× 
ÅÛˆ¶Ûé ï×õ¸Û¶Ûà¶ÛÛ ÈÛÛÜÌÛÙïõ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ©Ûé¶Ûà …ÍÛÁõ þùÉÛÛÙÈÛÛé : 4 

 `̀̀̀ 

ÈÛé̃ ÛÛ¨Û (ÈÛé̃ ÛÛ¨Û ÈÛéÁõÛ ÍÛÜÐü©Û) 12,44,000 

˜ÛæïõÈÛéÅÛ ÈÛé̃ ÛÛ¨Û ÈÛéÁõÛé 44,000 

˜ÛæïõÈÛÈÛÛ¶ÛÛé ¼ÛÛïõà ÈÛé̃ ÛÛ¨Û ÈÛéÁõÛé  16,000 

þéùÈÛÛþùÛÁõÛé  4,50,000 

  ÐüÈÛÛÅÛÛ : ÈÛé̃ ÛÛ¨Û¾ÛÛ× ›Û×•Û¦ø ¸ÛÁõ ¾ÛÛéïõÅÛéÅÛ ¾ÛÛÅÛ¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé. …Û ¾ÛÛÅÛ ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ¸ÛÁõ 
20% ¶ÛºõÛé ˜Û§øÛÈÛà¶Ûé ¾ÛÛéïõÅÛéÅÛ ™öé. ©ÛÛ. 31-03-2013¶ÛÛ ÁõÛé›÷ •ÛóÛÐüïõÛé…é ›÷¨ÛÛÈýÛä× ïéõ 4/5 ½ÛÛ•Û¶ÛÛé 
¾ÛÛÅÛ ÁõÛ”Ûà ÅÛàµÛÛé ™öé …¶Ûé ©Ûé¶Ûà ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û ` 40,000 ™öé.  

 (c) “…ÈÛÛÍ©ÛÜÈÛïõ Ü¾ÛÅÛïõ©ÛÛé” …¶Ûé “ÍÛ×ÉÛÜýÛ©Û þéùÈÛÛ” þùÁéõïõ¶ÛÛ ªÛ¨Û ŠþùÛÐüÁõ¨Û …Û¸ÛÛé. 3 

 

5. ¶Ûà˜Ûé …Û¸ÛéÅÛ þùÁéõïõ Ðéü©ÛäÅÛ“Ûà ¸ÛóÊ¶Û¶ÛÛ …éïõ ïõÁõ©ÛÛ× ÈÛµÛÛÁéõ ›÷ÈÛÛ¼ÛÛé …Û¸ÛéÅÛÛ ™öé. ›÷é¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û 
¸ÛÍÛ×þù ïõÁõà ›÷ÄõÁõà •Û¨Û©ÛÁõà …¶Ûé ”ÛäÅÛÛÍÛÛ ÍÛÛ¬Ûé ÅÛ”ÛÛé ƒ (ïõÛé̂ ¸Û¨Û ÍÛÛ©Û ÅÛ”ÛÛé) 14 

 (1) ›Û¾Ûà¶Û•ÛàÁõà ¸ÛóàÜ¾ÛýÛ¾Û ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÉÛé¶ÛÛ ¾ÛÛ¤éø Š¸ÛýÛÛé•Û ¶Û ÅÛˆ ÉÛïõÛýÛ ? 

   (a) ¼ÛÛé¶ÛÍÛ ÉÛéÁõ ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ ¾ÛÛ¤éø  

   (b) ¸ÛóÛ¬ÛÜ¾Ûïõ ”Û˜ÛÙ¶ÛÛ ¾ÛÛ×¦øÈÛÛÇ ¾ÛÛ¤éø  

   (c) ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ ¸ÛÁõ©Û ïõÁõÈÛÛ ¾ÛÛ¤éø  

   (d) ÈÛ¤øÛÈÛé ¼ÛÐüÛÁõ ¸ÛÛ¦éøÅÛ ÉÛéÁõ¶Ûà ¾ÛÛ×¦øÈÛÛÇ ¾ÛÛ¤éø  

 (2) ÁõÛ¾Û ÜÅÛ.¶Ûà ½ÛÁõÛýÛéÅÛà ÉÛéÁõ¾Ûæ¦øà ` 80,00,000, þùÁéõïõ ` 100¶ÛÛé …éïõ …é¾Û ÈÛÐêü˜ÛÛýÛéÅÛà ™öé. ™öéÅÅÛÛé 
Ðü¸©ÛÛé ¾Û×•ÛÛÈÛÛýÛÛé ©ýÛÛ× ÍÛäµÛà ïõÛé̂  ÉÛéÁõ Š¸ÛÁõ “¶ÛÜÐü ˜ÛæïõÈÛÛýÛéÅÛ Ðü¸Û©ÛÛ” ¶Û Ðü©ÛÛ. ›Ûé ™öéÅÅÛÛé Ðü̧ Û©ÛÛé 
77,500 ÉÛéÁõ Š¸ÛÁõ ¾Û×•ÛÛÈÛÛýÛéÅÛ …¶Ûé ˜ÛæïõÈÛÛýÛéÅÛ ÐüÛéýÛ …¶Ûé ›Ûé ¶ÛÜÐü ˜ÛæïõÈÛÛýÛéÅÛ Ðü¸©ÛÛ¶Ûà Áõïõ¾Û      
` 62,500 ÐüÛéýÛ, ©ÛÛé ™öéÅÅÛÛ Ðü¸Û©ÛÛ¶Ûà ÉÛéÁõþùà¥ø Áõïõ¾Û ïéõ¤øÅÛà ÐüÉÛé ?  

   (a) ` 25 (b) ` 7.80 

   (c) ` 20 (d) ` 62.5 

 (3) Ü¸Û¶ïäõÉÛ ÜÅÛ.¶Ûà ¾ÛÛÜÐü©Ûà …Û ¾Ûä›÷¼Û¶Ûà ™öé : 

  ¾Û×•ÛÛÈÛÛýÛéÅÛ ˆÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà ` 5,00,000, …•ÛÛŠ¬Ûà ¾ÛÇéÅÛ Ðü̧ ©ÛÛ ` 25,000, ¶ÛÐüá ¾ÛÇéÅÛ 
Ðü¸©ÛÛ ` 40,000, ›÷é ÍÛæÜ˜Û©Û Ü¦øÜÈÛ¦ø¶¦ø 15%, ©ÛÛé ˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ Ü¦øÜÈÛ¦ø¶¦ø ïéõ¤øÅÛä× ¬ÛÛýÛ ? 

   (a) ` 75,000 (b) ` 72,750 

   (c) ` 71,250 (d) ` 69,000 
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 (4) …Ü½ÛÌÛéïõ ÜÅÛ.¶Ûà ÍÛ«ÛÛÈÛÛÁõ ¾Ûæ¦øà îýÛä¾ýÛäÅÛé¤øàÈÛ ¸Ûóé. ÉÛéÁõ …¶Ûé ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà ¼Û¶ÛéÅÛ ™öé. 5%¶ÛÛ 
îýÛä¾ýÛäÅÛé¤øàÈÛ ¸Ûóé.ÉÛéÁõ¶Ûà ¾ÛæÇ Ýïõ¾Û©Û ` 100 ™öé …¶Ûé ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà ¾ÛæÇ Ýïõ¾Û©Û ` 10 ™öé. ÈÛÌÛÙ 
2011-12 …¶Ûé 2012-13¶ÛÛ …×©Û¾ÛÛ× îýÛä¾ýÛäÅÛé¤øàÈÛ ¸Ûóé. ÉÛéÁõ ”ÛÛ©ÛÛ¶Ûà ¼ÛÛïõà ` 2,00,000 …¶Ûé 
ˆÜîÈÛ¤øà ÉÛéÁõ¶Ûà ¼ÛÛïõà ` 5,00,000 ÐüÛéýÛ …¶Ûé ›Ûé ›ÛÐéüÁõ ïõÁéõÅÛ Ü¦øÜÈÛ¦ø¶¦ø …¶Ûä’õ¾Ûé ` 8,000 …¶Ûé 
` 15,000, ÈÛÌÛÙ 2011-12 …¶Ûé 2012-13¾ÛÛ× ÐüÛéýÛ, ©ÛÛé ÈÛÌÛÙ 2012-13¾ÛÛ× ï×õ¸Û¶Ûà ³ùÛÁõÛ ˆÜîÈÛ¤øà 
ÉÛéÁõÐüÛéÅ¦øÁõÛé¶Ûé ˜ÛæïõÈÛÛýÛéÅÛ Ü¦øÜÈÛ¦ø¶¦ø¶Ûà Áõïõ¾Û  

  (a) ` 3,000 (b) ` 5,000 

  (c) ` 10,000 (d) ` 12,000 

 (5) ÍÛé¼Ûà¶ÛÛ Ü¶ÛþÙùÉÛ¶ÛÛé ¾Ûä›÷¼Û ÉÛéÁõ ¼ÛÐüÛÁõ ¸ÛÛ¦ø©Ûà ÈÛ”Û©Ûé …Áõœ÷¶ÛÛ ¶ÛÛ¨ÛÛ× ÉÛé¶ÛÛ¬Ûà …Ûé™öÛ ¶Û ÐüÛéÈÛÛ 
›Ûé̂ …é ? 

  (a) ÉÛéÁõ¶Ûà þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û¶ÛÛ 2.5%¬Ûà  
  (b) ÉÛéÁõ¶Ûà ¼ÛÐüÛÁõ ¸ÛÛ¦éøÅÛ Ýïõ¾Û©Û¶ÛÛ 2.5%¬Ûà  
  (c) ÉÛéÁõ¶Ûà þùÛÉÛÙÜ¶Ûïõ Ýïõ¾Û©Û¶ÛÛ 25%¬Ûà  
   (d) ÉÛéÁõ¶Ûà ¼ÛÐüÛÁõ ¸ÛÛ¦éøÅÛ Ýïõ¾Û©Û¶ÛÛ 25%¬Ûà  

(6) ÜÈÛ•Û©ÛÛé ŠµÛÛÁõ ›÷¾ÛÛ 

 6%¶ÛÛ Ü¦ø¼Ûé¶˜ÛÁõ ”ÛÛ©Ûä×  – 3,00,000 

 Ü¦ø¼Ûé¶˜ÛÁõ ÈýÛÛ›÷ ”ÛÛ©Ûä×  6,000 – 

   “Ü¦ø¼Ûé¶˜ÛÁõ ¼ÛÛïõà ÈýÛÛ›÷ ”ÛÛ©Ûé” ïõˆ Áõïõ¾Û ¸ÛÛïõÛ ÍÛÁõÈÛíéýÛÛ¾ÛÛ× þùÉÛÛÙÈÛÛÉÛé ? 

  (a) ` 6,000 (b) ` 12,000 

  (c) ` 18,000 (d) ` 24,000 

 (7) ï×õ¸Û¶Ûà¶ÛÛé ÍÛÁéõÁõÛÉÛ Í¤øÛéïõ ` 8,000, ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ ` 6,000, ˜ÛÛé””Ûà ”ÛÁõàþùà ` 2,00,000 

…¶Ûé ›Ûé ï×õ¸Û¶Ûà ÈÛé̃ ÛÛ¨Û Š¸ÛÁõ 20% ¶ÛºõÛé ÅÛé©Ûà ÐüÛéýÛ, ©ÛÛé ÈÛé̃ ÛÛ¨Û¶Ûà Áõïõ¾Û ïéõ¤øÅÛà ¬ÛÛýÛ ?  

  (a) ` 2,35,200 (b) ` 2,45,000 

  (c) ` 1,96,000 (d) ` 2,50,000 

 (8) ï×õ¸Û¶Ûà ³ùÛÁõÛ …éïõ ÜÍ¬ÛÁõ Ü¾ÛÅÛïõ©Û ©ÛÛ. 01-04-2010¶ÛÛ ÁõÛé›÷ ”ÛÁõàþùÛˆ Ðü©Ûà. ï×õ¸Û¶Ûà 15%¶ÛÛ þùÁéõ 
“–Û¤ø©Ûà ›÷©Ûà ¼ÛÛïõà¶Ûà ¸Û±ùÜ©Û” ¾Ûä›÷¼Û –ÛÍÛÛÁõÛé ¾ÛÛ×¦øà ÈÛÛÇé ™öé. ©ÛÛ. 31-03-2013¶ÛÛ ÁõÛé›÷ –ÛÍÛÛÁõÛ 
¼ÛÛþù¶Ûà Ýïõ¾Û©Û ` 12,28,250 ÐüÛéýÛ, ©ÛÛé Ü¾ÛÅÛïõ©Û¶Ûà “¾ÛæÇÝïõ¾Û©Û” ïéõ¤øÅÛà ¬ÛÛýÛ ? 

  (a) ` 25,00,000 (b) ` 22,00,000 

  (c) ` 20,00,000 (d) ` 19,50,000 

 (9) Š¾Û×•Û ï×õ¸Û¶Ûà¶ÛÛ ˜ÛÛȩ́ Û¦øÛ ¾Ûä›÷¼Û þéùÈÛÛþùÛÁõ¶ÛÛ ”ÛÛ©ÛÛ¶Ûà ÉÛÄõ…Û©Û¶Ûà ¼ÛÛïõà ` 25,000¶Ûà Ðü©Ûà. ÈÛÌÛÙ 
þùÁõ¾ýÛÛ¶Û¶Ûä× ŠµÛÛÁõ ÈÛé̃ ÛÛ¨Û ` 5,50,000, ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û þéùÈÛÛþùÛÁõÛé ¸ÛÛÍÛé¬Ûà ÈÛÍÛæÅÛéÅÛ Áõïõ¾Û           
` 2,50,000¶Ûà Ðü©Ûà. ›Ûé –ÛÛÅÛ”ÛÛµÛ¶ÛÛé þùÁõ 5% ÐüÛéýÛ, ©ÛÛé –ÛÛÅÛ”ÛÛµÛ¶Ûà Áõïõ¾Û ïéõ¤øÅÛà ¬ÛÛýÛ ? 

  (a) ` 16,250 (b) ` 25,000 

  (c) ` 12,500 (d) ` 15,250 

____________ 

 



NQ-110 9 P.T.O. 

Seat No. :  _______________ 
  

NQ-110 
December-2015 

B.Com., Sem.-I 

CE-101A : Advanced Accounting & Auditing 

(Financial Accounting-I) 
 

Time :  3 Hours]  [Max. Marks : 70 
 

Instruction : Show required working as part of your answer. 

 
1. (a) Saumya, Juhi and Shonali share Profit and Loss in the proportion of 4 : 5 : 1. 

Their Balance Sheet is as follows : 7 

Liabilities `̀̀̀ Assets `̀̀̀ 

Creditors 50,000 Cash in hand 15,000 

Saumya’s Loan 30,000 Fixed Assets 1,80,000 

Juhi’s Loan 15,000 Investments 1,07,000 

Reserve Fund 18,000   

Contingency Reserve 75,000   

Capital :    

 Saumya 75,000   

 Juhi 24,000   

 Shonali 15,000   

 3,02,000  3,02,000 

  The partnership is dissolved and the assets realized as follows : 

  – First Installment ` 50,000 

  – Second Installment ` 1,85,000 

  On the date of the dissolution, there was a contingent liability of ` 5,000 against 

the firm, which was settled at ` 3,500 at the time of second installment. 

  Dissolution expenses were estimated at ` 10,000 but these actually amounted             

` 7,500. 

  Shonali took stock worth ` 2,500 at the time of second installment. 

  The firm was forced to pay ` 3,000 out of second installment for which no 

provision was made in the books. 

  Prepare a statement showing Cash distribution by “Maximum Loss Method”. 

OR 
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 (a) How “Maximum Loss Method” of ‘Piecemeal distribution of cash’ is different 

from “Surplus Capital Method” ? Explain in brief and from the below mentioned 

information show the cash distribution under the Surplus Capital Method. 

  Velji, Hasmukh and Dinesh are partners sharing profits and losses in the ratio of            

3 : 2 : 1. Their capitals at the time of payment of the last installment are ` 90,000, 

` 75,000 and ` 40,000 respectively. The last installment from the sale of assets of 

` 35,500 was received. ` 6,000 was spent out of ` 7,500 kept reserve for 

dissolution expenses. 

 (b) Vaidehi Limited was incorporated on 01-04-2013 to purchase a running business of 

a partnership firm from 01-01-2013. From the information given below about the 

year ending on 31-12-2013, determine profit prior to incorporation and post 

incorporation.  7 

  (1) The total sales of the year ending on 31-12-2013 is ` 12,00,000 out of 

which sales from 01-01-2013 to 31-03-2013 amounted to ` 2,40,000. 

  (2) The Gross Profit showed by Trading Account for the year ending on 31-12-2013 

is ` 4,80,000. Following information relates to the Profit and Loss Account : 

 `̀̀̀ 

Rent and taxes 39,000 

Salaries of employees 72,000 

Debenture Interest 18,000 

General Expenses 12,000 

Audit Fees 1,500 

Director’s Fees 7,500 

Formation Expenses 6,000 

Selling Commission 24,000 

                                OR 

  What is meant by profit prior to incorporation ? Can “Profit prior to Incorporation” 

be distributed as dividend to Shareholders ? Explain with required reasons. 

 

2. The authorized capital of Aashna Limited is ` 1,25,00,000 divided into 1,25,000 equity 

shares of ` 100 each. The company issued 40% capital for public at a premium of 20%. 

Amount payable per share was as follows : 14 

  On Application ` 20 

  On Allotment ` 40 (including premium) 

  On First call ` 30 

  On Second call ` 30 

 Shares were allotted as under : 

 Allotment in full 25,000 shares 

 Allotment of 2/3
rd

 shares applied for 20,000 shares 

 Allotment of 1/4
th
 shares applied for      5,000 shares     

      50,000 shares 
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 The applications for 5,000 shares were refused and the amount was refunded to them. 

Money overpaid on applications was credited to allotment account and call account. 

 Pravin to whom 1,000 shares were allotted on the basis of allotment in full, paid the 

first call amount of shares at the time of allotment. After that he fails to pay anything to 

the company. 

 Kavita to whom 800 shares were allotted on the basis of 2/3 shares applied for, failed to 

pay the allotment money and first call money and her shares were forfeited after first 

call. 

 After asking second call, company forfeits all the shares of Pravin. After forfeiture 50% 

of Pravin’s shares and 70% of Kavita’s share company reissues at ` 8 fully paid up, and 

receives money on shares. 

 Pass necessary Journal Entries in the books of the Aashna Ltd. 

                            OR 

 (a) Mr. Aamir fails to pay ` 5 including ` 2 premium on his 300 number of shares, 

company forfeits all his shares. Mr. Shahrukh fails to pay ` 3 on his 600 number 

of shares, company also forfeits these shares after giving due notice to him. Face 

value of both the shares was ` 10. After forfeiture company reissues 70% of              

Mr. Aamir’s shares and 50% of Mr. Shahrukh’s shares to Mr. Gangu teli at ` 7 as 

fully paid up in the market, pass required Journal Entries of forfeiture in the book 

of company. Also prepare share forfeiture account in the books of company. 7 

 (b) The following is the Share Forfeiture Account in the books of Babaji Limited : 4 

   Dr.  Share Forfeiture Account Cr. 

Particulars `̀̀̀ Particulars `̀̀̀ 

To Share Capital A/c. 1,400 By Share Capital 8,400 

To Capital Reserve 700   

To Balance c/d 6,300   

 8,400  8,400 

  The face value of a share was ` 100/- and ` 40/- per share was not paid and hence 

these shares were forfeited, out of which some share were reissued. 

  Pass necessary “Journal Entries” for forfeiture and re-issued of shares in the 

books of the company. 

 (c) Write short note from the following : (any one) 3 

  (1) Provisions of the Companies Act in respect of Sweat Equity Shares. 

  (2) Potential Equity Shares 

  (3) Provisions of Companies Act for buy-back of shares 
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3. After Explaining Provisions of Section 80 of Companies Act for redeeming preference 

shares in detail, you are required to pass required Journal Entries in the books of            

Hiren Ltd. from the below mentioned information : 

 Hiren Ltd. wants to redeem its 50,000, 12% Redeemable Preference Shares of ` 10 

each, at 10% premium. Balances of certain accounts of Hiren Ltd. before redemption is 

mentioned below : 

 `̀̀̀ 

Cash & Bank Balance 10,000 

Profit and Loss Account 3,00,000 

General Reserve 4,50,000 

Investments 20,000 

 Hiren Ltd. sells the above-mentioned investments by charging 1/3 profit on sales value 

of the investment. Company will keep Closing Cash and Bank Balance at ` 50,000 

after the redemption of Preference Shares. Company will issue required number of 

Equity Shares each of ` 10 at ` 15 to the public, company receives all the money on the 

shares issued.  14 

OR 

 (a) Following are the balances of Shri Sachin Ltd. as on 30
th
 June 2013 : 7 

 `̀̀̀ 

10,000 Equity Shares of ` 10 each, ` 8 paid up 80,000 

General Reserve 20,000 

Capital Redemption Reserve 80,000 

Securities Premium 10,000 

Profit arising from Revaluation of fixed assets 10,000 

  It was resolved in the annual general meeting of the company, to make their partly 

paid shares as fully paid shares from reserves. 

  After making it fully paid up, company will issue required number of equity 

shares each of ` 10 at ` 12 so that the company can issue one fully paid up equity 

share as Bonus against one fully paid up equity share held. 

  Pass required Journal Entries in the book of company. 

 (b) As per the Balance Sheet of Harshey Ltd. company has 80,000 equity shares each 

of ` 10 and 6% debentures of ` 2,40,000. It was resolved in the Annual General 

Meeting of the company that company will pay in cash tax free dividend at 10% 

(tax rate 20%). Company repays debentures at a premium of 3%. Pass Journal 

Entries from the given transactions.  4 

 (c) What do you mean by Bonus shares ? Write any three sources of bonus 

distribution.  3 
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4. The following is the Trial Balance of Deval Ltd. as on 31-3-2013 : 14 

Particulars 
Debit 

Balances 

Credit 

Balances 

Equity Share Capital – 1,20,000 

10% Preference share capital – 80,000 

General Reserve – 40,000 

Debenture Redemption Fund – 20,000 

Securities Premium – 6,000 

Profit & Loss Account (1-4-2012) – 10,000 

10% Debentures – 40,000 

Discount on Debentures 2,000 – 

12% Public Deposits – 20,000 

P.F. and P.F. Contribution  2,000 10,000 

Unclaimed Dividend – 1,600 

Interest accrued but not due on debentures – 1,000 

Interest on Debentures 4,000 – 

Fixed Assets 3,10,000 – 

Depreciation fund on fixed assets – 1,10,000 

Stock (1-4-2012) 1,10,000 – 

Investments 98,000 – 

Debtors and Creditors 2,28,400 60,000 

Cash and Bank 2,000 2,800 

Bills 41,200 45,000 

Purchases and Sales 14,90,000 17,98,000 

Returns 20,000 16,000 

Interest on Public Deposit 1,200 – 

Carriage Inward 28,800 – 

Rent, Taxes and Insurance 6,000 – 

Stationery and Postage 3,000 – 

Advertisement 2,000 – 

Bad Debts and Bad Debt Reserve 800 4,000 

Preliminary Expenses 2,000 – 

Salary and Unpaid Salary 36,000 3,000 

Total 23,87,400 23,87,400 
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 After considering the following information, prepare the Final Accounts of the 

Company according to the provisions of the Companies Act, 1956. 

 (1) The paid up capital of the company is 50% of its authorized capital. The face 

value of each shares is ` 100. 

 (2) The value of closing stock is ` 1,32,100 which includes stationery stock worth               

` 1,000. 

 (3) The details of fixed assets are as under : 

Particulars 
Cost up to 

31-3-2012 
Depreciation 

Rate of 

Depreciation 

Building 50,000 20,000 10% 

Machinery 2,00,000 60,000 25% 

Vehicles 40,000 20,000 20% 

Furniture 20,000 10,000 10% 

  The company is providing depreciation as per “Diminishing Balance Method”. 

 (4) The details of investments are as under : 

  • 10% debenture redemption fund investments (1-4-2012) ` 20,000 

  • 8% Central Government loan (Face value ` 40,000 purchased on 1-10-2012) 

` 38,000 

  • 800 equity shares of Keyur Ltd. of ` 100 each ` 50 per share paid up            

` 40,000. 

 (5) Unrecorded credit sales amounted to ` 2,000. Write off ` 400 as Bad Debts and 

provide Bad Debt Reserve @ 2% on debtors. 

 (6) Write off preliminary expenses by 10%. 

 (7) The Directors have proposed the following appropriations : 

  • General Reserve ` 20,000 

  • Debenture Redemption Fund ` 10,000 

  • Dividend on Equity shares 15% 

                         OR 

 (a) Following balances are taken from Trial Balance of “Hardi Ltd” as on 31
st
 March 

2013 :  7 

Name of Accounts Dr. `̀̀̀ Cr. `̀̀̀ 

Provision for Income-tax (1-4-2012) – 17,000 

Advance payment of Income-tax (1-4-2012) 12,000 – 

Advance payment of Income-tax 

(paid during current year) 

18,000 – 

Income-tax deducted at source 800 1,200 

Profit & Loss A/c. (1-4-2012) – 24,000 
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  Assessment in respect of Income-tax of the previous year 2011-12 was completed 

during the current year and Income-tax liability of ` 19,000 has been determined. 

Current year profit of the company is ` 42,000. The company has made provision 

for income-tax at 50% on current year’s profit. 

  From the above information, pass Journal Entries and show their effect in Final 

Balance Sheet of company. 

 (b) Show the effects in the annual accounts of the company, after taking into 

consideration the balances of the trial balance on 31-3-13 and adjustments 

mentioned below :  4 

 `̀̀̀ 

Sales (including sales tax) 12,44,000 

Sales tax paid 44,000 

Unpaid sales tax 16,000 

Debtors 4,50,000 

  Adjustments : The sales figures includes goods sent on sales or return basis, 

which was sent after adding 20% profit on sales. Customers have informed on              

31-03-2013 that they had retained 4/5 of the goods whose cost price was                      

` 40,000. 

 (c) Give three examples of Fictitious Assets and Contingent Liabilities. 3 
 

5. For each of the following sub-questions more than one answers are given, out of which 

select the correct answer. Give necessary calculation or explanation as part of your 

answer. (write any 7)  14 

 (1) Securities premium cannot be used to  

   (a) issue of bonus shares 

   (b) to write off preliminary expenses 

   (c) to redeem preference shares 

   (d) to write off shares issued on discount 

 (2) The subscribed share capital of Ram Ltd. is ` 80,00,000 of ` 100 each. There 

were no calls in arrear till the final call was made. If the final call made and was 

paid on 77,500 shares and if the calls in arrear amounted to ` 62,500, then the 

final call per share must be  

   (a) ` 25 (b) ` 7.80 

   (c) ` 20 (d) ` 62.5 

 (3) The details of Pinkush Ltd. are as under : 

  Equity share capital called up ` 5,00,000, calls in advance ` 25,000, Calls in arrear          

` 40,000, proposed dividend 15%, what will be the amount of Dividend payable ? 

   (a) ` 75,000 (b) ` 72,750 

   (c) ` 71,250 (d) ` 69,000 
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 (4) The authorized share capital of Abhishek Ltd. consists of both cumulative 

preference shares and equity shares. Each 5% cumulative preference share has a 

par value of ` 100. Each equity share has a par value of ` 10. At the end of the 

year 2011-12 and 2012-13, the cumulative preference share capital balance was               

` 2,00,000 and the equity share capital balance was ` 5,00,000, if dividend 

declarations totaled ` 8,000 and ` 15,000 in the year 2011-12 and 2012-13 

respectively, the dividends paid to the equity shareholders in the year 2012-13 

must be  

  (a) ` 3,000 (b) ` 5,000 

  (c) ` 10,000 (d) ` 12,000 

 (5) As per the SEBI guidelines, on issue of shares, the application money should not 

be less than  

  (a) 2.5% of the nominal value of shares 

  (b) 2.5% of the issue price of shares 

  (c) 25% of the nominal value of shares 

   (d) 25% of the issue price of shares   

(6) Particulars Debit Credit 

 6% Debenture Account – 3,00,000 

 Debenture Interest Account 6,000 – 

   Which amount is shown in balance sheet as “Outstanding Interest on Debenture” ? 

  (a) ` 6,000 (b) ` 12,000 

  (c) ` 18,000 (d) ` 24,000 

 (7) Average stock of company is ` 8,000, Opening stock ` 6,000, Net purchase                   

` 2,00,000 and if the company charges 20% profit on sales, what will be the 

amount of sales ?  

  (a) ` 2,35,200 (b) ` 2,45,000 

  (c) ` 1,96,000 (d) ` 2,50,000 

 (8) A company have purchased one fixed asset on 01-04-2010, company provides 

depreciation at the rate of 15% as per Diminishing Balance Method, its written 

down value as on 31-03-2013 after depreciation comes to ` 12,28,250. What will 

be the original cost of the asset ? 

  (a) ` 25,00,000 (b) ` 22,00,000 

  (c) ` 20,00,000 (d) ` 19,50,000 

 (9) Opening Balance of the Debtors Account in the books of Umang Company was             

` 25,000, credit sales during the year is ` 5,50,000, cash collection from the 

Debtors amounting to ` 2,50,000. What will be the amount of Bad Debts, if the 

rate of Bad Debt amounted to 5% ? 

  (a) ` 16,250 (b) ` 25,000 

  (c) ` 12,500 (d) ` 15,250 

____________ 


